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SRR 2 BOREABR SRR RE (X7 b OVEET)

ca=(1,2,-1), b=(-1,1,2) £ ¥52%, axbla-(axb)zRdX,

RZ Mla=(1,2,1), b=(2,1,3), ¢c=(2,0,1)IZ2WVWT, axbBIU|abc| %KD
X. £/, axblcDLITAZ pLTDHLE, cosp DEZ KD K.

RZ Mla=(a0,1), b=(-1,0,0)IZHLT, albWEKXTE7-HDDa,bDFML,
al b EITIZRE72OD a,b DM ZENZTNRD L.

XDRZ MV a, b,c DEBEBEZRD K. £72, (|a]?)’, (a-b), (axb), labc| %
ThENRD XK.

a(t) = (cost,sint,t), b(t) = (cost,sint,e”"), c(t)=(1,t,¢")

HOMRr(t) = (acost,asint, bt) (a #0) FREAZRZGENI 2R, ERzkd K.
HhAR r(t) = (a(t —sint),a(1 — cost),b) (a # 0) DR Z KD XK.

a,blX 0 THRWVWEHE TS, Hhiffr(t) = (a(t —sint),a(1 — cost),bt) L% EH T 5K 1D
HWENZ MV EBRENRZ DL 2 RD K.

ROMFRIZH LT, v(0) 25 r(t) ETOME s 2KD, MRNAITA-FFKREL. 7K
L, a£0&95%.

(1) r(t) = (2cost,2sint) (2) r(t)=(t,1+2t) (3) r(t) = (acost,asint, bt)
HiAR r(t) = (acost,asint,bt) IZDWT, 7L xFEHE, #R, HEER2RD K.

BRI r(u,v) = (sinucosv,sinusinv,cosu) (0 <u<7m,0<v<2m) IZ2WT, fREREK
r,, T, TR, #iEEko k. £, REOWMEAMIOEL SRRTHEnES
Z K.
R OW D HBALERRAN 7 L& RD &
(1) r(u,v) = (u,v,u* —v?) (2) r(u,v) = ((2+ cosu)cosv, (2+ cosu) sinv, sin u)
(3) r(u,v) = (coshucosv,coshusinv,u)
IR D O Hh A 2 ke K.
(1) r(u,v) = (ucosv,usinv,u) 0<u<1,0<v<27)
(2) r(u,v) = ((2+ cosu)cosv, (2 + cosu)sinv, sinu) (0<wu<2m0<v<2n)
RD AT 5 =5 DEI KD &.

efl'
(1) flz,y,2) = Tr it
3) flzy.2)=2"y+ay’—2 (4) fl2,y,2) =2’sinycosz
MDY P VIGOHEE KD &
1) v(z,y,2) = (2,900 2 v(zyz)=(-y20)
DR NVIGDFME & O“lﬁlii’&?r%ﬁ‘i.
(1) a= (2?92 a=(-y,z,0)

® a= (s myy) (@) a= (st aty)

(2) f(z,y,2) = 2> +y* + 2




